
T: +44 (0)1582 661993 F: +44 (0)1582 667100 E: sales@fastmovertoolsuk.com

FMT1254

Classic Panelmaster
Product Instruction Manual



FMT1254

Instruction Manual

Main Features

Fast Mover Tools

T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com

W: www.fastmovertoolsuk.com

FMT258

Square/Square

FMT125/2

Horizontal Bar

FMT1450/5

Main Upright

FMT132

Finger Screw

FMT1450/4

Base Upright

FMT1450/3

Base Leg

FMT128

Extension Bar

FMT129

Panel Hook

FMT1450/1

Hook Holder Arm

FMT1254/4

Swivel Bar

FMT132

Finger Screw

FMT133

8” Rubber Wheel

FMT133

FMT133Tube

M12 x 80

M12 Spring Washer

M12 Large Washer

1 Tandem wheelbase gives a stable platform to work on and provides a “lean back” profile for easier 

spraying.

2 Features a long lasting 90
o

rotation mechanism for a long working life and less downtime.

3 Rolls on large 8” Rubber Tyres which give good grip and will not get caught in floor grids or door 

thresholds.

M10 x 50

M10 Nyloc

M10 Washer



PLEASE KEEP THIS MANUAL SAFE FOR FUTURE REFERENCE

Parts List

Fast Mover Tools

T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com

W: www.fastmovertoolsuk.com

FMT1450/4 1 Base

FMT125/1 1 Main Upright

FMT125/2 1 Top Piece

FMT1450/3 2 Base Leg

FMT128 2 Short Extension Bar

FMT1450/1 2 Hook Holder

FMT133 2 200mm Wheel

Parts Bag

Containing - 2 FMT258/1 Square on Square

2 M12SW M12 Spring Washer

4 M10X50 M10 x 50 Set Screw

2 M12X80 M12 x 80 Set Screw

8 M10WS M10 Washer

4 M10N M10 Nyloc

9 FMT132 Finger Screw

4 FMT129/1 Panel Hook

2 M12W M12 Washer

2 FMT133/TUBE Wheel Insert

1 FMT1254/3 Steel Pin

1 FMT1254/4 Swivel Bar

1 FMT131/1 T-piece

1 FMT131/2 Eyebolt

1 DO NOT use this stand if any part is broken or damaged.

2 DO NOT use this stand as a climbing frame or hop-up.

3 DO NOT allow children or unauthorised persons to use this stand.

4 DO NOT use this stand near any electrical source.

5 ALWAYS clean paint overspray from all moving or adjustable parts to ensure a good grip and long life.

6 ALWAYS be aware of those around you and likewise be aware that your own actions may have a 

direct effect on those around you.

7 DO NOT use this stand if under the influence of drugs, alcohol or intoxicating medication.

8 ALWAYS use this stand in a clean, tidy and safe environment, always ensure that the stand is position 

on level, stable ground.

9 Ensure that the floor is not wet or slippery before you use this stand.  Always wear non-slip footwear.

10 ALWAYS wear the appropriate PPE, avoid wearing loose clothing, rings and jewellery and tie long hair 

back.

11 Due to the nature of this product, there may be sharp edges on some components of this stand.  It is 

therefore strongly recommended that suitable gloves are worn when using this stand.

12 This stand must not be used in anyway that compromises the stability or integrity of the stand itself or 

puts the operator at risk.  Doing so will invalidate the warranty and void any claims resulting from 

damage to property or personal harm.

13 Always store this stand in a dry, secure environment.

14 Always position the FMT129s in the way shown on the image to the left.  Fitting them in any other  

way will dramatically reduce the strength of the stand’s grip in the panel.  This could lead to damage 

to the panel and could also harm the operator.  Claims relating to damage of property or personal 

injury will be voided if the FMT129s are fitted incorrectly.  The warranty will also be invalidated.

General Safety Instructions



FMT1254

Instruction Manual

Fast Mover Tools

T: 01582 661993 F: 01582 667100 E: sales@fastmovertoolsuk.com

W: www.fastmovertoolsuk.com

Slide FMT1254/4 through holes in the FMT125/2 and then the FMT125/1 so that it is firmly held in place and the

FMT125/2 is able to turn freely.

Swivel Mechanism

Slide the FMT1254/3 through the FMT131 eyebolt then insert both parts into their respective sockets

simultaneously.  Secure the FMT131 with the T-piece and washer.  The angle of rotation can now be set and

fixed.

FMT1254/4

FMT125/2

FMT125/1

FMT125/2

FMT125/1

FMT131

T-Piece
FMT131

Eyebolt

FMT131

Washer

FMT1254/3

Swivel Bar

Fig. 1

Fig. 2


